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Read the space fact and unscramble the pink letters to spell out the
name of a park. On the back. write the park name next to its

corresponding # and use visual clues to find the item left behind.

The Milky Way galaxy is 105,700 light-years wide. It would take a modern
spacecraft 450,000,000 years to travel to the center of our galaxy!

Park

Pluto is smaller than the United States. If you were to walk around the equator of
Pluto it would be the same distance as driving from Fairbanks to Tampa, Florida!

Park

There are more stars in space than there are grains of sand in the world. There are
10 times more stars in the night sky than grains of sand on the Earth, with 70
sextillion stars being visible from Earth through a telescope. 70 sextillion is written
out like this: 70,000,000,000,000,000,000,000.

Only 5% of the universe is visible from Earth. 68% of the universe is dark energy
and 27% is dark matter. Both of these are invisible, even with a telescope, which
means we are only able to see 5% of the universe.

Space is completely silent. This is because there is no air in space, and air is needed
to carry the sound vibrations. So if you shouted to someone next to you in space
they wouldn’t be able to hear you.

Park

There is a planet half the radius of the Earth with a surface made up of diamonds.
55 Cancri-e and it is only 40 light-years away and visible to the naked eye under the
constellation of Cancer.

Park
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Fill in the name of the park and the item left behind.
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